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Chapter 1

Hahn-Banach Theorem and
Applications

1.1 The Hahn-Banach Theorem

Theorem 1. Let X be a linear space over R and p a real valued function on X with the properties:

(1) p(ax) = ap(x) for all x ∈ X and a > 0 (positive homogeneity)

(2) p(x+ y) ≤ p(x) + p(y) for all x, y ∈ X (subadditivity)

If l is a real valued linear functional defined on a linear subspace Y of X and dominated by p, that is

l(y) ≤ p(y) for all y ∈ Y,

then l can be extended to all of X as a linear functional such that l(x) ≤ p(x) for all x ∈ X.

To prove the theorem, we will use the Zorn’s Lemma.

Theorem 2 (Zorn’s Lemma). Let S be a partially ordered set such that every totally ordered subset
has an upper bound. Then S has a maximal element.

Well, now, to understand Zorn’s Lemma, we need to define an upper bound as well as a maximal
element.

Definition 1. A partially ordered set S is a set on which an order relation a ≤ b is defined for some
(but not necessarily all) pairs a, b ∈ S with the following properties:

(1) transitivity: if a ≤ b and b ≤ c then a ≤ c

(2) reflexivity: a ≤ a ∀a ∈ S

A subset T of S is totally ordered if

x, y ∈ T ⇒ x ≤ y or y ≤ x.

An element u ∈ S is an upper bound for T ⊂ S if

x ∈ T ⇒ x ≤ u.

A maximal element m ∈ S satisfies

m ≤ b ⇒ m = b.

5
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A concrete and simple illustration of Zorn’s Lemma is provided by an interval of real numbers. Let
S = [a, b] a bounded interval of R with a < b. Then every totally ordered subset of S has an upper
bound in S. And S admits a maximal element which is b. Now, consider the interval S = [a, b). This
interval is totally ordered but doesn’t admit an upper bound in S.
Proof of Hahn-Banach Theorem
We will first apply the Zorn’s Lemma. Let’s consider the following partially ordered set (poset), S
whose elements are the pairs (hi, D(hi)) with hi a linear functional defined on a subspace D(hi) ⊃ Y ,
and such that

hi = l on Y and hi ≤ p on D(hi).

The order on S is defined as

hi ≤ hj ⇐⇒ D(hi) ⊂ D(hj) and hi = hj on D(hi)

Let T be a totally ordered subset of S. Define (h,D(h)) ∈ S as

D(h) =
⋃(

D(hi)
)
{i ∈ I}

and,
h(y) = hi(y) for y ∈ D(hi).

Then, (h,D(h)) is an upper bound of T . From Zorn’s Lemma, it follows that S possesses a maximal
element, (g,D(g)). We will show that D(g) = X. Let us assume that this is not the case. Let
x0 ∈ X \D(g). Consider the subspace

H = {y + ax0; y ∈ D(g), a ∈ R}

We look for a linear function w defined on H such that w ≤ p. For this, it is sufficient to define w s.t.

w = g on D(g),

and
w(y + ax0) ≤ p(y + ax0); y ∈ D(g), a ∈ R

By linearity, this is equivalent to

g(y) + aw(x0) ≤ p(y + ax0); y ∈ D(g), a ∈ R

and
w(x0) ≤ (1/a)(p(y + ax0)− g(y)), y ∈ D(g), a > 0 (1.1)

along with
w(x0) ≥ (1/a)(p(y + ax0)− g(y)), y ∈ D(g), a < 0 (1.2)

Factorizing by a, and thanks to the positive homogeneity, Equation (1.1) rewrites

w(x0) ≤ p(y + x0)− g(y), y ∈ D(g) (1.3)

Analogously, factorizing by −a, Equation (1.2) rewrites

w(x0) ≥ −p(y − x0) + g(y), y ∈ D(g) (1.4)

To find a suitable value for w(x0) it is sufficient that

− p(z − x0) + g(z) ≤ p(y + x0)− g(y) ∀z, y ∈ D(g) (1.5)

or
g(y + z) ≤ p(y + x0) + p(z − x0) + ∀y, z ∈ D(g) (1.6)

But we know that

g(y + z) ≤ p(y + z) = p(z − x0 + x0 + y) ≤ p(y + x0) + p(z − x0).
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It follows that Equation (1.6) holds. This contradicts the fact that (l+, D(g)) is maximal element
which in turns implies that D(g) = X. □

Exercise 1:

Let X = R2 and Y = {(x, y) ∈ X;−2x + y = 0}. Let l a real valued linear function defined on Y
by l(1, 2) = 1. Find a p as in the Hahn-Banach theorem such that l ≤ p on Y . What can you deduce?
Construct explicitly an extension of l on X, with l ≤ p on X.

Solution 1:

We remark that
l(x, 2x) = x ≤ ||(x, 2x)||.

Therefore we can set
p(x, y) = ||(x, y)||

From theorem 1, we can extend l on R2, with l(x) ≤ ||x|| on X. To have an explicit definition of l on
R2, we write

l(x, y) = l(x(1, 2) + (y − 2x)(0, 1)

which leads to a sufficient condition on the possible values of l(0, 1).

Exercise 2:

Let X = L2(0, 1) and Y = {u =
∑

i uiφi ∈ X;−2u0 + u1 = 0, ui = 0 for i > 1}, where (φi)i∈N
denotes an eigenfunction basis of X. Let l a real valued linear function defined on Y by l(φ0+2φ1) = 1.
Find a p as in the Hahn-Banach theorem such that l ≤ p on Y . What can you deduce? Construct
explicitly an extension of l on X, with l ≤ p on X.

Solution 2:

We remark that
l(u0φ0 + 2u0φ1) = u0 ≤ ||u0φ0 + 2u0φ1||.

Therefore we can set
p(u) = ||u||L2

From theorem 1, we can extend l on X, with l(u) ≤ ||u|| on X. To have an explicit definition of l on
X, we write ....

What happens if the function p is actually a norm? In this case the Hahn–Banach theorem is an
existence result for bounded linear functionals on normed vector spaces.

Corollary 1. Let X be a normed space over R. If l is a real valued linear function defined on a linear
subspace Y of X such that

l(y) ≤ c||y|| for all y ∈ Y,

with c ≥ 0. Then l can be extended to all of X as a bounded linear real valued function such that

|l(x)| ≤ c||x|| for all x ∈ X.

Exercise 3:

Prove Corollary 1.

Solution 3:

The corollary results from a direct application of Theorem 1 with p(x) = c||x||. We have

p(x+ y) = c||x+ y|| ≤ c(||x||+ ||y||) = p(x) + p(y)

and for a > 0
p(ax) = c||ax|| = ap(x).

It follows that p satisfies the assumptions of Theorem 1 which in turn allows us to apply the theorem
and prove the result. Note that if l(x) < 0, then |l(x)| = −l(x) = l(−x) ≤ c||x|| wich ensures that the
linear function l is bounded.

We now provide a complex version of Theorem 1:



8 CHAPTER 1. HAHN-BANACH THEOREM AND APPLICATIONS

Proposition 3. Let X be a normed space over C and p a real non negative function on X with the
properties:

(1) p(ax) = |a|p(x) for all x ∈ X and a ∈ C

(2) p(x+ y) ≤ p(x) + p(y) for all x, y ∈ X (subadditivity)

If l is a linear functional taking values in C defined on a linear subspace Y of X and dominated by p,
that is

|l(y)| ≤ p(y) for all y ∈ Y,

then l can be extended to all of X as a linear functional such that |l(x)| ≤ p(x) for all x ∈ X.

Proof
We denote by u the real part of l and by v its imaginary part so that

l(y) = u(y) + iv(y).

Then u is a linear functional from Y to R. Furthermore, note that

|u(y)| ≤ |l(y)| ≤ p(y).

We can therefore apply Theorem 1 to u. It follows that u can be extended over X with u(x) ≤ p(x)
for all x ∈ X. Next note that for y ∈ Y

l(y) = u(y)− iu(iy). (1.7)

This follows from the fact that on one hand

l(iy) = il(y) = iu(y)− v(y)

while on the other hand

l(iy) = u(iy) + iv(iy).

Identifying the real parts in those equations leads to:

v(y) = −u(iy)

which gives eq. (1.7). We now extend l to X thanks to Equation (1.7). Note that l is linear. One can
indeed check that

l(x1 + x2) = l(x1) + l(x2).

And,

l(ix) = u(ix)− iu(−x) = u(ix) + iu(x) = i(u(x)− iu(ix)) = il(x).

Lastly assume that

l(x) = reiθ

so that

e−iθl(x) = r.

Since r ∈ R, it follows that
r = e−iθl(x) = l(e−iθx) = u(e−iθx).

From which we deduce that

l(x) = eiθu(e−iθx).

And finally,

|l(x)| ≤ |u(e−iθx)| ≤ p(e−iθx) = p(x).

□
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1.2 Geometric Hahn-Banach Theorems

Definition 2. A set S ⊂ X is convex if for all x, y ∈ S and t ∈ [0, 1] we have tx+ (1− t)y ∈ S.

Definition 3. A point x ∈ S ⊂ X is an interior point of type I of S if for all y ∈ X there exists µ > 0
s.t.

|t| < µ ⇒ x+ ty ∈ S.

Definition 4. If X is a normed space, a point x ∈ S ⊂ X is an interior point of type II of S if there
∃ϵ > 0 s.t.

B(x, ϵ) ⊂ S.

where

B(x, ϵ) = {y ∈ X; ||y − x|| < ϵ.

Remark 4. Note that if x is an interior point of type II then it is an interior point of type I, for in
this case one can choose µ < ϵ

||y|| .

In this section, since we do not assume a norm on X, all interior point will be of type I.

Theorem 5. Let X be a linear space over R. Let K be a convex subset of X, and suppose 0 is an
interior point (of type I) of K. If y /∈ K then there exists a linear functional l : X → R s.t.

l(x) ≤ l(y) for all x ∈ K

with strict inequality for all interior points x of K.

In order to prove this theorem we will need to define the gauge function.

Definition 5. Let K a subset of X which contains 0 as an interior point, the gauge of K denoted by
pk, is the real valued function defined on X by:

pk(x) = inf{b > 0;
x

b
∈ K}

To prove Theorem 5 we will apply the Hahn-Banach Theorem 1. We first prove that when K is
convex, the gauge pk is positively invariant and sub-additive.

Lemma 1. We assume that K ⊂ X is convex. Then the function pk defined in Definition 5 satisfies

(i)pk(ax) = apk(x)∀x ∈ X ∀a > 0,

(ii)pk(x+ y) = pk(x) + pk(y)∀x, y ∈ X.
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Proof
Note that

x

b
∈ K ⇔ a

x

ab
∈ K

from which it follows that
pk(ax) = apk(x)∀x > 0.

Let x, y ∈ X and b, c such that
x

b
,
y

c
∈ K.

Since K is convex, it follows that

x+ y

b+ c
=

b

b+ c

x

b
+

c

b+ c

y

c
∈ K,

which implies that
pK(x+ y) ≤ b+ c.

Let (bn), (cn) two sequences such that x
bn
, y
cn

∈ K and converging toward pK(x) and pK(y). Taking
the limit in the inequality

pK(x+ y) ≤ bn + cn

gives
pK(x+ y) ≤ pK(x) + pK(y).

We can now proceed with the proof of Theorem 5.
Proof
We want to apply Theorem 1. Since pk is positively invariant and subadditive, we look for a relevant
linear functional l and a subspace Y ⊂ X such that

l(x) ≤ pK(x)∀x ∈ Y.

Now assume y /∈ K. We set
l(y) = 1.

Since l is linear
l(ay) = al(y)

therefore we can define l as such on the subspace

{ay, a ∈ R}.

Note that since y /∈ K and 0 ∈ K,
y

b
∈ K ⇒ b > 1

and therefore
pK(y) = inf{b > 0;

y

b
∈ K} ≥ 1.

This in turn implies that
pK(y) ≥ l(y)

and therefore
pK(ay) = apK(y) ≥ al(y) = l(ay)∀a > 0.

We have also
l(ay) ≤ 0 ≤ pk(ay)∀a ≤ 0.

We complete the proof by application of Theorem 1: l can be extended to X and

l(x) ≤ pK(x)∀x ∈ X.

Now note that
x ∈ KpK(x) ≤ 1,
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since l(y) = 1 we deduce that
∀x ∈ K l(x) ≤ l(y).

Note finally that if z is an interior point of K

pk(z) < 1.

Theorem 6. Let X be a linear space over R. Let K be a convex subset of X with an interior point
(of type I). If y /∈ K then there exists a linear functional l : X → R s.t.

l(x) ≤ l(y) for all x ∈ K

with strict inequality for all interior points x of K.

Proof
The result follows from a translation. Let z0 be the interior point of K. We apply theorem 5 with
K ′ = {z − z0, z ∈ K} and y′ = (yz0) /∈ K ′.

Exercise 4:

Prove that
pK(x) < 1 ⇔ x is interior to K

Solution 4:

We already know that
x is interior to K ⇒ pK(x) < 1.

Conversely if pK(x) < 1, there exists some b < 1 such that

x

b
∈ K.

But then, for all y ∈ K, one can find ϵ > 0 such that

|t| < ϵ ⇒ x+ ty inK.

This follows from the fact that 0 is interior to K and the convexity of K (draw a picture!).

Theorem 7. Let X be a linear space over R. Let H, M be two disjoint convex subsets of X. Assume
that at least one of them has an interior point. Then H and M can be separated by a hyperplane
l(x) = c : there is a real valued linear function l and c ∈ R s.t.

l(u) ≤ c ≤ l(v)∀u ∈ H, v ∈ M.

Proof
Assume without loss of generality that H has an interior point. Let

K = {x ∈ X;x = u− v, u ∈ H, v ∈ M.}

Note that since H ∩M = ∅
0 /∈ K.

Also K has an interior point. We now apply Theorem 5 to K and 0. Therefore there exists a linear
functional l such that

l(u− v) ≤ 0∀u ∈ H, v ∈ M,

which gives

l(u) ≤ l(v)∀u ∈ H, v ∈ M.

If we choose such that
sup
u∈H

l(u) ≤ c ≤ inf
v∈M

l(v)

we obtain the result.
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1.3 Application of the Hahn-Banach Theorem

This section is largely inspired by [Sch, Lax02].
We first consider the linear space X = B(S) of all real valued bounded functions on some set S.

B(S) is endowed with the following partial order: for x, y ∈ B(S)

x ≤ y if ∀s ∈ S x(s) ≤ y(s).

If 0 ≤ x we say that x is non-negative. On B(S) a linear functional l is said to be positive if it satisfies
l(y) ≥ 0 for all y ≥ 0. The following theorem holds

Theorem 8. Let Y be a linear subspace of B(S). We assume that there exists y0 ∈ Y such that y0 ≥ 1
and a positive linear functional l on Y . Then l can be extended to all of B(S) as a positive linear
functional.

Theorem 8 results from a more general result which we will state below. We first need to define a
cone.

Definition 6. A subset P ⊂ X of a linear space over R is a cone if

∀x, y ∈ P, ∀t, s ≥ 0, tx+ sy ∈ P.

A linear functional on X is P -positive if P (x) ≥ 0 for all x ∈ P .

Theorem 9. Let P ⊂ X be a cone with an interior point y0. If Y is a subspace containing y0 on
which is defined a P ∩ Y -positive linear functional l, then l has an extension to X which is P-positive.

Proof
Again, we want to apply Theorem 1. We define p as follows:

p(x) = inf{l(y); y − x ∈ P, y ∈ Y }.

Note that since y0 is an interior point of x, by definition there exists t > 0 such that

y0 − tx ∈ P.

Since P is a cone
1

t
(y0 − tx) =

1

t
y0 − x ∈ P.

Therefore the definition makes sense. Next, note that since P is a cone

∀a > 0, y − ax ∈ P ⇔ a(
y

a
− x) ∈ P,

and since Y is a subspace

y ∈ P ⇔ y

a
∈ Y.

Therefore,
p(ax) = inf{l(y); y − ax ∈ P, y ∈ Y }

= inf{l(y); y
a − x ∈ P, y ∈ Y }

= inf{l(az); z − x ∈ P, z ∈ Y }
= inf{al(z); z − x ∈ P, z ∈ Y }
= ap(x).

We can now look at the sub-additivity of P . Let x1, x2 ∈ X, y1, y2 ∈ Y , such that yi−xi ∈ P, i ∈ {1, 2}.
Since P is a cone

y1 − x1 + y2 − x2 = y1 + y2 − (x1 + x2) ∈ P.

Therefore

p(x1 + x2) = inf{l(z); z − (x1 + x2) ∈ P, z ∈ Y } ≤ l(y1 + y2) = l(y1) + l(y2).

Taking a limit of appropriate sequences (l(yn1 )), (l(y
n
2 )) converging toward p(x1) and p(x2) provides

p(x1 + x2) ≤ p(x1) + p(x2).
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Next, note that if x, y ∈ Y and y − x ∈ P

l(x) = l(x− y) + l(y) ≤ l(y)

since l(x − y) = −l(y − x) ≤ 0 which comes from the P -positivity of l. It follows from the definition
of p as an inf that that l(x) ≤ p(x) for x ∈ Y . We can therefore extend p on X with l ≤ p on X by
applying Theorem 1. Finally, let x ∈ P . Then

p(−x) = inf{l(y); y + x ∈ P, y ∈ Y }.

But in this case for y = 0, y + x = x ∈ P . Therefore

p(−x) ≤ l(0) = 0.

This in turn gives l(−x) ≤ p(−x) ≤ 0 which shows that l is P -positive.
Proof (Theorem 8).
Under the assumptions of Theorem 8, y0 is an interior point of the cone of the positive functions.
Therefore, we can apply Theorem 9 with P defined as this cone. This gives the result. The
following theorems use topological properties. We refer to [Bre11] for proofs.

Theorem 10. Let X be a normed space over R. Let l : X → R be a linear functional different from
zero and α ∈ R. Then the hyperplane

H = {x ∈ X; f(x) = α}

is closed if and only if l is continuous.

Theorem 11. Let X be a normed space over R. Let H, M be two disjoint convex subsets of X.
Assume that H is open and M is co,pact. Then H and M can be separated strictly by a hyperplane
l(x) = c : there is a real valued linear function l and c ∈ R s.t.

l(u) < c < l(v)∀u ∈ H, v ∈ M.
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Chapter 2

Banach Spaces

In the previous chapter, we used a function p which was subadditive and positive homogeneity. In this
chapter, we consider normed spaces that induce naturally a metric and a topology.

2.1 Normed and Banach Spaces

Definition 7. Let X be a linear space over F = R or C. A norm on X is a function ||·|| : X → [0,+∞)
s.t.

(1) ||x|| = 0 ⇐⇒ x = 0

(2) ||x+ y|| ≤ ||x||+ ||y|| (subadditivity)

(3) ||ax|| = |a|||x|| (homogeneity)

A normed space is a linear space X with a norm || · ||.

Exercise 5:

Prove that the d(x, y) = ||x− y|| defines a distance on X.

Solution 5:

First,

d(x, y) = 0 ⇒ ||x− y|| = 0 ⇒ x = y.

Next,

d(x, y) = ||x− y|| = ||x− z + z − y|| ≤ ||x− z||+ ||z − y|| = d(x, z) + d(z, y).

Finally,

d(x, y) = ||x− y|| = || − (y − x)|| = ||y − x|| = d(y, x).

Thus any normed space is a metric space if we define the distance as above. As a consequence, the
following topological properties hold:

• a sequence xn converges to x if d(xn, x) = ||xn − x|| → 0.

• a set U ⊂ Xis open if for every x ∈ U there is a ball B(x, ϵ) centered at x with radius ϵ > 0 s.t.
B(x, ϵ) ⊂ U .

• a set F is closed if X \ F is open.

• a set K is compact if every open cover of K has a finite sub-cover.

15
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Two norms || · ||1 and || · ||2 on X are equivalent if there is A,B > 0 s.t.

||x||1 ≤ A||x||2 and ||x||2 ≤ B||x||1 ∀x ∈ X

Exercise 6:

Prove that two equivalent norms define the same topology.

Solution 6:

Assume that two norms equivalent norms || · ||1 and || · ||2 are defined on X. Let O be an open set
of (X, || · ||1), and x ∈ O. There exists ϵ1 such that B1(x, ϵ1) ⊂ O where

B1(x, ϵ1) = {y ∈ X; ||y − x||1 < ϵ1}

We look for ϵ2 such that B2(x, ϵ2) ⊂ O where

B2(x, ϵ2) = {y ∈ X; ||y − x||2 < ϵ2},

for this, it is sufficient to find ϵ2 such that

||y − x||2 < ϵ2 ⇒ ||y − x||1 < ϵ1

Since
||x||1 ≤ A||x||2

it is sufficient to choose
ϵ2 =

ϵ1
A
,

indeed this gives
||y − x||1 < A||y − x||2 < Aϵ2 = ϵ1

Therefore, any open set of (X, || · ||1) is an open set of (X, || · ||2). The converse statement also holds.

Finally recall that a metric space X is complete if every Cauchy sequence (xn) converges in X.

Definition 8. A Banach space is a complete normed space.

Exercise 7:

Assume that (X, || · ||1) is a Banach space. Assume that || · ||1 and || · ||2 are equivalent. Prove that
then (X, || · ||2) is a Banach space.

Solution 7:

Let (xn) be a Cauchy sequence in (X, || · ||2). It follows from

||xn − xp||1 ≤ A||xn − xp||2

that (xn) is also a Cauchy sequence in (X, || · ||1). Since X, || · ||1) is a Banach space, there exists x ∈ X
such that ||xn − x||1 converges toward 0 as n goes to +∞. Next, since

||xn − x||2 ≤ B||xn − x||1,

it follows that ||xn − x||2 converges also toward 0.

Banach Spaces and topological properties: a few examples

1) Consider the space X = C([0, 1]) of continuous real valued functions on the closed unit interval
[0, 1]. Then the formulas

||f ||∞ = sup
0≤t≤1

|f(t)|, ||f ||2 =
( ∫ 1

0

|f(t)|2dt
) 1

2

for f ∈ C([0, 1]) define norms on X. The space C([0, 1]) is a Banach space with || · ||∞ but is not
complete with || · ||2. It follows that these two norms are not equivalent.
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2) The space Y = C1([0, 1]) of continuously differentiable real valued functions on the closed unit
interval is a dense linear subspace of C([0, 1]) with the supremum norm and so is not a closed
subset of (C([0, 1]), || · ||∞).

3) Consider the closed unit ball B = {f ∈ C([0, 1])|; ||f ||∞ ≤ 1} in C([0, 1]) with respect to the
supremum norm. This set is closed and bounded. For every t ∈ [0, 1], (f(t)f∈B = [−1, 1] is
compact but B is not equicontinuous. More explicitly, consider the sequence (fn) of B defined
by fn(t) = sin(nπt) for n ∈ N and 0 ≤ t ≤ 1. For any µ > 0, let n such that tn = 1

2n < µ. Then
|fn(0)−fn(tn)| = 1. Theorem 20 below shows that the compactness of the unit ball characterizes
the finite-dimensional normed vector spaces.

4) For each p ∈ [1,∞) let

lp = {(a1, a2, ...);
+∞∑
j=1

|aj |p < ∞}.

Define a norm on lp by

||a||p =
(+∞∑
j=1

|aj |p
) 1

p .

Then lp is a Banach space.

5) Let
l∞ = {(a1, a2, ...); sup |aj | < ∞.

Define a norm on l∞ by
||a||∞ = sup |aj |.

Then l∞ is a Banach space.

6) Let
C0 = {(a1, a2, ...); lim

n→∞
an = 0}.

Choose the norm || · ||∞ on C0. Then C0 is a Banach space.

7) Let
Fp = {(a1, a2, ...);∃N ∈ Ns.t.n ≥ N ⇒ an = 0}.

Choose the norm || · ||p on Fp. Then Fp is a normed space but it is not complete. Its completion
is isomorphic to lp.

8) Let Ω ⊂ Rd be an open bounded set and let p ∈ [1,∞). Let X = Cc(Ω) be the space of continuous
functions with compact support in Ω, endowed with the norm

||f ||p =
( ∫

Ω

|f(x)|pdx
) 1

p .

Then X is a normed space, which is not complete. Its completion is denoted Lp(Ω) and may be
identified with the set of equivalence classes of measurable functions such that∫

Ω

|f(x)|pdx < +∞

with two functions f, g called equivalent if f(x) = g(x) for almost every x.

9) Let X denote the set of C1 functions on Ω such that∫
Ω

|f(x)|pdx < ∞ and

∫
Ω

|∂jf(x)|pdx < ∞, j = 1, ..., n

Let’s define

||f ||1,p =

∫
Ω

|f(x)|pdx+

n∑
j=1

∫
Ω

|∂jf(x)|pdx

 1
p
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Then X is a normed space which is not complete. Its completion is the so called Sobolev space
W 1,p(Ω) which can be identified with the subspace of Lp(Ω) consisting of (equivalence classes)
of functions all of whose first derivatives are in Lp(Ω) in the sense of distributions. The study of
these spaces is part of another course.

Exercise 8:

Let

p ∈ (1,+∞) and q defined as
1

p
+

1

q
= 1.

Prove Young inequality:

∀a, b ≥ 0, ab ≤ 1

p
ap +

1

q
bq.

Solution 8:

Apply the ln function to the right-hand side of the equation. This gives the result thanks to the
concavity of ln.

Exercise 9:

(Holder inequality) Let f ∈ Lp and g ∈ Lq with 1
p + 1

q = 1. Prove that∫
|fg| ≤ ||f ||Lp ||g||Lq .

Solution 9:

Let

f̃ =
|f |

||f ||Lp

, g̃ =
|g|

||g||Lq

.

Then,

||f̃ ||pLp = ||g̃||qLq = 1.

We apply the Young inequality to f̃ g̃ and integrate, we obtain,∫
f̃ g̃ ≤

∫ ( f̃p

p
+

g̃q

q

)
= 1.

This gives the result.

Exercise 10:

(Minkowsky Inequality) Let f ∈ Lp and g ∈ Lp. Show that

||f + g||Lp ≤ ||f ||Lp + ||g||Lp .

Solution 10:

We write

|||f |+ |g|||pLp =
∫
(|f |+ |g|)p

=
∫
(|f |+ |g|)(|f |+ |g|)p−1

≤ (||f ||Lp + ||g||Lp)
( ∫

(|f |+ |g|)qp−q
) 1

q thanks to Holder inequality,

≤ (||f ||Lp + ||g||Lp)
( ∫

(|f |+ |g|)p
)1− 1

p using the fact that 1
p + 1

q = 1.

Multiplying both sides by |||f | + |g|||1−p
Lp gives the result. The next section provides a little more

details about Lp spaces.
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2.2 Lp spaces

This section is inspired by [Bre11, Rud87]. Let (Ω,M, µ) denote a measure space, i.e., Ω is a set and
(i) M is a σ-algebra in Ω, i.e., M is a collection of subsets of Ω such that:

(a)∅ ∈ M
(b) A ∈ M ⇒ Ac ∈ M,
(c)

⋃
n∈N An ∈ M whenever ∀nAn ∈ M,

(ii) µ is a positive measure, i.e., µ : M → [0,+∞] satisfies
(a) µ(∅) = 0,

(b)µ
(⋃

n∈N An

)
=

∑
n∈N µ(An) whenever (An) is a disjoint countable family of members of M.

The members of M are called the measurable sets. We shall also assume that
(iii) Ω is σ-finite, i.e., there exists a countable family (An) inM such that Ω =

⋃
n∈N An and ∀nµ(An) <

+∞.
The sets E ∈ M with the property that µ(E) = 0 are called the null sets. We say that a property

holds a.e. (or for almost all x ∈ Ω) if it holds everywhere on Ω except on a null set. On a measure
space (Ω,M, µ), we can define the (Lebesgue) integral of a real valued measurable function f∫

Ω

fdµ.

We refer to [Rud87] for the detailed construction of the integral. A fundamental example of measure
space is given by Ω = Rn associated with the Lebesgue’s measure relying on the natural measure of
cubes in Rn . The following theorems hold.

Theorem 12 (Lebesgue-Monotone Convergence). Let (fn) be a sequence of measurable functions
defined on Ω, and suppose that
(a) 0 ≤ f1(x) ≤ f2(x) ≤ ... a.e.,
(b) fn(x) → f(x)a.e.
Then f is measurable, and ∫

fn →
∫

f

Theorem 13 (Beppo-Levi-Monotone Convergence). Let (fn) be a sequence of measurable functions
defined on Ω, and suppose that

(a) 0 ≤ f1(x) ≤ f2(x) ≤ ...a.e.,

(b) sup
n∈N

∫
fn(x) < +∞.

Then (fn(x)) converges a.e. to a finite limit, which we denote by f(x); the function f belongs to
L1 and ||fn − f ||1 → 0.

Theorem 14 (Dominated Convergence Theorem). Let (fn) be a sequence of measure functions defined
on Ω, and g ∈ L1(Ω). We assume that (a) (fn(x)) converges a.e. to a finite limit, which we denote by
f(x);
(b) fn(x) ≤ g(x) a.e.
Then the function f belongs to L1 and ||fn − f ||1 → 0.

Theorem 15 (Fatou’s Lemma). If ∀n ∈ N (fn) : Ω → [0,+∞] is measurable, then∫
lim inf fn ≤ lim inf

∫
fn.

Exercise 11:

Prove that Lp is a Banach space.

Solution 11:

We consider Ω with the Lebesgue measure and the borelian sets. We follow the proof in [Rud87].
We start with the case 1 ≤ p < +∞. Let (fn) a Cauchy sequence in Lp.

∀ϵ > 0∃N ∈ N; n, p > N ⇒ ||fn − fp||Lp < ϵ.
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From (fn) we extract a subsequence as follows: there exists n0 such that

||fn − fn0 ||p <
1

2
∀n > n0.

Then pick n1 > n0 such that

||fn − fn1
||p <

1

22
∀n > n1,

and by induction ni > ni−1 such that

||fn − fni
||p <

1

2i+1
∀n > ni.

By construction one has that

||fni+1
− fni

||p <
1

2i+1
∀i ∈ N.

Note that ∑
i∈N

||fni+1 − fni ||p <
∑
i∈N

1

2i+1
= 1.

Let

gk(x) =

k∑
i=0

|fni+1(x)− fni
(x)|, g(x) =

+∞∑
i=0

|fni+1(x)− fni
(x)|.

We want to apply Theorem 13 to (gpk).

gpk ≤ gpk+1

and ∫
gpk ≤

k∑
i=0

||fni+1 − fni
||p < 1.

Therefore gpk(x) converges a.e. on Ω and so do gk(x). We denote by g(x) the limit of gk(x). It follows
that

∑
i(fni+1(x) − fni

(x)) converges absolutely a.e. on Ω. So fn converges a.e.. Let f denotes its
limit. Let ϵ > 0. Since fn is Cauchy, for all ϵ > 0, there exists N such that n, k ≥ N implies

||fn − fk||p < ϵ,

or ∫
Ω

|fn − fk|p < ϵp.

From Fatou’s lemma we deduce∫
Ω

|f − fN |p ≤ lim inf

∫
Ω

|fni
− fN |p ≤ ϵp,

from which we conclude that
||fn − f ||p → 0.

Next, we consider the case p = ∞. Remind that L∞(Ω) is defined as the set of measurable functions
for which there exists a positive constant C such that f < C a.e. on Ω. And

||f ||∞ = inf
C>0

{f < Ca.e.}.

Exercise 12:

Prove that the set of continuous functions with compact support is dense in Lp.

Solution 12:

Coming soon...
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2.3 Finite versus Infinite Dimensional Normed Spaces

The following results are specific to finite dimensional normed spaces. The proofs can be found in
classical Topology courses.

Proposition 16. Every finite-dimensional normed space is a Banach space.

Proposition 17. Let X be a normed space. Then every finite dimensional linear subspace of X is a
closed subset of X.

Proposition 18. Let X be a finite-dimensional normed space. Let K ⊂ X. Then K is compact if
and only if K is closed and bounded.

Theorem 19. Le X be a finite dimensional vector space. Then any two norms on X are equivalent.

Exercise 13:

Prove the theorem stated above.

Solution 13:

Let || · || be a norm on X. Let e1, e2, ..., en be a basis of X. For x =
∑n

i=1 λiei, set

||x||∞ = max
i∈1,...,n

|λi|.

This defines a norm on X. We have

||x|| ≤ ||x||∞
n∑

i=1

|λi|.

On the other hand, note that S = {x ∈ X; ||x||∞ = 1 is a compact set in (X, || · ||∞). Since

|||x|| − ||y||| ≤ ||x− y|| ≤ (

n∑
i=1

|λi|)||x− y||∞

the function

f :

{
(X, || · ||∞) → (R, | · |)

x → ||x||

is continuous. Therefore f(S) is a compact set of (R, | · |). It follows that there exists x0 ∈ S such
that

f(x0) = inf
x∈S

f(x)

Let x ̸= 0.
x

||x||∞
∈ S.

Therefore

||x0|| ≤ || x

||x||∞
||

which in turn implies

||x||∞ ≤ 1

||x0||
||x||.

The following lemma is the key tool to prove Theorem 20.

Lemma 2. Let X be a normed space and let Y ⊂ X be a closed linear subspace that is not equal to
X. Then there exists a vector x ∈ X such that

||x|| = 1, inf
y∈Y

||x− y|| ≥ 1

2
.
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Proof
Let x ∈ X \ Y and let

d = inf
y∈Y

{||x− y||}.

Since Y is closed, d > 0 (why?). Let y0 ∈ Y such that

||y − x|| < 2d.

Next, we define z as

z =
x− y0

||x− y0||
.

For any y ∈ Y , it holds

||z − y|| = ||x− y0 − y||x− y0||
||x− y0||

|| ≥ d

2d
=

1

2
.

□

Theorem 20. Let X be a normed space and denote the closed unit ball in X by

B = {x ∈ X; ||x|| ≤ 1}

Then B is compact if and only if X is finite dimensional.

Proof
X finite dimensional ⇒ B compact has been proven in the undergraduate course of topology. We prove
here that X infinite dimensional ⇒ B is not compact. For this, we are going to construct a sequence
(xn) in B from which any convergent subsequence cannot be extracted. Let S = {x ∈ X; ||x|| = 1}
and let x0 ∈ S. From Lemma 2, there exists x1 ∈ S such that ||y−x1|| ≥ 1

2 for all y ∈ span{x0}. Then
we proceed by induction, and assuming that x0, x1, ..., xn are already defined, we choose xn+1 ∈ S
such that ||y−xn+1|| ≥ 1

2 for all y ∈ span{x0, x1, ..., xn}. No convergent subsequence can be extracted
from (xn).

2.4 Linear functionals on a Banach Space

Definition 9. A linear functional l : X → K on a normed space X over K = R or C is bounded if
there is c < ∞ s.t.

|l(x)| ≤ c||x||∀x ∈ X.

The inf over all such c is the norm l,

||l|| = sup
x∈X,x ̸=0

|l(x)|
||x||

(2.1)

Theorem 21. A linear functional l on a normed space X is bounded if and only if it is continuous.

Proof
We assume first that l is bounded. Let x ∈ X. Let (xn) be a sequence converging to x. Then

|l(x)− l(xn)| ≤ ||l||||x− xn||

which shows that l is continuous. Conversely, assume that l is not bounded, then there exists a sequence
(xn) such that:

|l(xn)|
||xn||

≥ n

Setting

yn =
xn√
n||xn||

we have
|l(yn)| ≥

√
n → +∞.

But
lim

n→+∞
yn = 0

which is a contradiction. □



2.4. LINEAR FUNCTIONALS ON A BANACH SPACE 23

Definition 10. The set X ′ of all bounded linear functionals on X is called the dual of X.

Theorem 22. Endowed with the norm defined by Equation (2.1), X ′ is a Banach space.

Proof
Let (ln) be a Cauchy sequence in X ′. We want to show that there exists a linear functional l on X
such that (ln) converges to l. We know that for all ϵ

||ln − lm|| < ϵ

for any n,m large enough. It follows that

||ln(x)− lm(x)|| < ϵ||x|| ∀x ∈ X.

Thus, for all x in X, ln(x) is a Cauchy sequence in K. Since K is complete (ln(x)) converges toward a
value that we call l(x). This defines l as a functional over K. By computations limits, one can deduce
that l is linear. We need to prove that l is bounded. Since (ln) is Cauchy and thanks to the inequality

||ln|| − ||lm||| ≤ ||ln − lm||

we know that (||ln||) is a Cauchy sequence in R. Since it is Cauchy, it is bounded by a constant c.
Therefore

|ln(x)| ≤ ||ln||||x|| ≤ c||x||

Taking the limit, we obtain
|l(x)| ≤ c||x||

which shows that l is bounded. Also, from

|lm(x)− ln(x)| < ϵ||x||

we obtain, taking the limit in m that

|l(x)− ln(x)| ≤ ϵ||x||

which implies that
||l − lm|| → 0.

□
Can we always say that for a given Banach space there exists a bounded linear functional? This is

the topic of the next exercise which illustrates how the Hahn-Banach theorem theorem 1 provides the
answer.
Exercise 14:

Let y1, ..., yN be N linearly independent vectors in a normed space X and α1, ..., αN arbitrary
scalars. Prove that there is a bounded linear functional l ∈ X ′ such that

l(yj) = αj , j = 1, ..., N

Solution 14:

Let
Y = span{y1, y2, ..., yN}.

We define l on Y by
l(yj) = αj .

Indeed, thanks to the linearity of l this defines l on Y by

l(y) = l(
∑
j

βjyj) =
∑
j

βjαj ,
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for all y =
∑

j βjyj ∈ Y. One can verify that l is linear. Furthermore l is bounded. This follows from

|l(
∑
j

βjyj)| ≤
∑
j

|βj ||αj | ≤ max
j

|αj |
∑
j

|βj | ≤ C||y||.

The last inequality holds because
∑

j |βj | is a norm on Y and all the norms on Y are equivalent. To
conclude, we apply Corollary 1 if K = R or Proposition 3 if K = C.

Proposition 23. Let l be a bounded linear functional defined on linear subspace Y of X. Then l can
be extended to X, furthermore

||l||Y ′ = ||l||X′

Proof
We apply Theorem 1 if K = R or Proposition 3 if K = C with p(x) = ||l||Y ′ ||x||. So we can extend l to
X, and

|l(x)| ≤ ||l||Y ′ ||x||∀x ∈ X

We deduce that

sup
x∈X

|l(x)|
||x||

≤ ||l||Y ′

that is,
||l||X′ ≤ ||l||Y ′ .

On the other hand

||l||Y ′ = sup
x∈Y

|l(x)|
||x||

≤ sup
x∈X

|l(x)|
||x||

≤ ||l||X′ .

□.

Proposition 24. For every x0 ∈ X, there exists φx0
∈ X ′ such that

||φx0 || = ||x0|| and |φx0(x0)| = ||x0||2

Proof
We apply Proposition 23 with Y = {αx0;α ∈ K} and φx0

(αx0) = α||x0||2. So, φx0
can be extended

to X with
||φx0

||X′ = ||φx0
||Y ′

Note that
|φx0

(αx0)| = |α|||x0||2

from which we deduce that
||φx0

||X′ = ||φx0
||Y ′ = ||x0||.

Finally choosing α = 1 shows that
φx0(x0)| = ||x0||2.

□

Proposition 25. For every x ∈ X, we have that

||x|| = sup
φ∈X′,||φ||≤1

|φ(x)|.

Proof
For every φ ∈ X ′ with ||φ|| ≤ 1, we have

|φ(x)| ≤ ||x||.

To prove the result, it remains to find a φ such that ||φ|| ≤ 1 and |φ(x)| = ||x||. From Proposition 24,
there exists φ0 such that

||φ0|| = ||x|| and |φ0(x)| = ||x||2

Choosing

φ1 =
1

||x||
φ0

provides the result.



Chapter 3

The Uniform Boundedness
Principle and the Closed Graph
Theorem

3.1 The Baire Category Theorem

Theorem 26 (Baire). Let X be a complete metric space and let (Fn)n∈N be a sequence of closed
subsets in X. Assume that

∀n ∈ N, (Fn)
◦ = ∅

then ( ⋃
n∈N

Fn

)◦
= ∅

Proof
Let

Un = F c
n

then Un is an open set. Furthermore, since

Un = F c
n =

(
F ◦
n

)c
= X

it is dense in X. Now, (( ⋃
n∈N

Fn

)◦)c

=
( ⋃

n∈N
Fn

)c

=
⋂
n∈N

Un

therefore, it is sufficient to prove that A =
⋂

n∈N Un is dense in X. Let x ∈ X, and let ϵ > 0. We
want to prove A ∩ B(x, ϵ) ̸= ∅. To this end we are going to construct a Cauchy sequence (xn) whose
limit belongs to A ∩ B(x, ϵ). Since U0 is dense in X, U0 ∩ B(x, ϵ) ̸= ∅. Let x0 and r0 > 0 such that
Bc(x0, r0) ⊂ U0 ∩ B(x, ϵ) where Bc denotes the closed ball. This is possible since U0 ∩ B(x, ϵ) is an
open set. Next let x1 and r1 such that Bc(x1, r1) ⊂ B(x0, r0) ∩ U1 and r1 < r0

2 . Next, having defined
xn, rn, we define xn+1, rn+1 such that Bc(xn+1, rn+1) ⊂ B(xn, rn) ∩ Un+1 and rn+1 < rn

2 . Clearly,
(xn) is a Cauchy sequence. We note l its limit. For any fixed n, l ∈ Bc(xn, rn) ⊂ Un ∩B(x, ϵ).□

Corollary 2. Let X be a nonempty complete metric space. Let (Fn) be a sequence of closed subsets
such that ⋃

n∈N
Fn = X

Then there exists n0 ∈ N such that

F ◦
n0

̸= ∅

25
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Proof
Assume that for every n ∈ N

(Fn)
◦ = ∅

then by the Baire theorem, ( ⋃
n∈N

Fn

)◦
= ∅

But this is not possible because ⋃
n∈N

Fn = X = X◦

since X is open. Therefore since it is not empty the corollary is proved. □

3.2 The Uniform Boundedness Principle

The following theorem is often referred as the Uniform Boundedness Principle or the Banach-Steinhaus
theorem.

Theorem 27 (Uniform Boundedness Principle). Let E and F be two Banach spaces and let (Ti)i∈I

be a family of continuous linear operators from E into F . Assume that

∀x ∈ E sup
i∈I

||Tix|| < ∞. (3.1)

Then
sup
i∈I

||Ti|| < ∞.

Proof
For n ∈ N, we define Fn as

Fn = {x ∈ X;∀i ∈ I, ||Tix|| ≤ n.}
Note that Fn is closed in X Let x ∈ X. From assumption (3.1) there exists a constant Cx such that

sup
i∈I

||Tix|| ≤ Cx.

It follows that for n ≥ Cx, x ∈ Fn. Therefore x ∈ ∪n∈NFn, which implies that

X =
⋃
n∈N

Fn.

From Corollary 2, it follows that there exits n0 such that F ◦
n0

̸= ∅. Let x ∈ X and r > 0 such that

Bc(x, r) ⊂ Fn0 ,

where Bc(x, r) is the closed ball of center x and radius r. By definition of Fn0 , one has that

sup
i∈I

||Ti(x+ ry)|| ≤ n0

for all y in X such that ||y|| = 1. Next, remark that

||Ti(ry)|| − || − Ti(x)|| ≤ ||Ti(ry + x)|| ≤ n0

which gives
||Ti(ry)|| ≤ n0 + ||Ti(x)||

or

||Ti(y)|| ≤
1

r
(n0 + ||Ti(x)||)

which proves that

sup
i∈I

||Ti|| ≤
1

r
(n0 + Cx).

□
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3.3 The open mapping theorem and the closed graph theorem

Theorem 28 (Open Mapping Theorem). Let E and F be two Banach spaces and let T be a continuous
linear operator from E onto F (onto = surjective). Then there exists a constant c > 0 such that the
image of the unit ball of E contains the ball of center 0 and radius c of F :

BF (0, c) ⊂ T (BE(0, 1))

Proof
We split the proof into two parts.
1) First, we prove that there exists a constant c1 > 0 such that :

B(0, c1) ⊂ T (B(0, 1)). (3.2)

Note that since T is surjective,

F =
⋃
n∈N

nT (B(0, 1)).

To see this, consider any y ∈ F . There exists x ∈ E such that

y = T (x) = 2||x||T ( x

||2x||
)

which shows that y ∈ nT (B(0, 1) as soon as n is large enough. Next, we seek to apply the Baire
theorem theorem 26. Since we have

F =
⋃
n∈N

nT (B(0, 1))

there exists n0 such that (
n0T (B(0, 1))

)◦
̸= ∅.

Now, let y ∈ F and c > 0 such that

B(y, c) ⊂ n0T (B(0, 1))

Assume that ||z|| < c, we can write

y + z = lim
k→+∞

n0T (xk)

with
xk ∈ B(0, 1)

therefore,
y + z

n0
= lim

k→+∞
T (xk)

which means that
B(

y

n0
,
c

n0
) ⊂ T (B(0, 1))

WLOG, assume that
B(y, c) ⊂ T (B(0, 1)).

In particular y ∈ T (B(0, 1)). It follows that −y ∈ T (B(0, 1)) too. Therefore:

B(0, c) = −y +B(y, c) ⊂ T (B(0, 1)) + T (B(0, 1)).

Next, we remark that
T (B(0, 1)) + T (B(0, 1)) = 2T (B(0, 1)). (3.3)

Let us detail this last statement. Let y, z ∈ T (B(0, 1)) and (x1k), (x2k) two sequences in B(0, 1) such
that (T (x1k)) and (T (x2k)) converge respectively toward y and z. It follows that

y + z = lim
k→+∞

2T (
x1k + x2k

2
) ∈ 2T (B(0, 1))
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which implies
T (B(0, 1)) + T (B(0, 1)) ⊂ 2T (B(0, 1)).

Conversely, let y = limk→+∞ 2T (xk) with xk ∈ B(0, 1). We have that

y = lim
k→+∞

(T (xk + xk)

which implies
2T (B(0, 1)) ⊂ T (B(0, 1)) + T (B(0, 1))

which proves Equation (3.3). This gives eq. (3.2) with c1 = c
2 .

2) Now, we know that for any given linear application T (we did not use the fact that T is continuous
yet), there exists a constant c1 such that

B(0, c1) ⊂ T (B(0, 1))

Let, y ∈ B(0, c1
4 ). From step 1), we deduce that there exists x ∈ B(0, 1) such that

||4y − Tx|| < c1
2

We set
x0 =

x

4
.

Note that

||x0|| <
1

4
and ||y − Tx0|| <

c1
8
.

Next, analogously, there exists x ∈ B(0, 1) (in general, different from the previous one of course!) such
that

||8(y − Tx0)− Tx|| < c1
2
.

We set
x1 =

x

8
.

It follows that

||x1|| <
1

8
and ||y − Tx0 − Tx1|| <

c1
16

.

By induction, we construct a sequence (xn) such that

||xn|| <
1

2n+2
and ||y −

n∑
k=0

Txk|| <
c1

2n+3
. (3.4)

The second inequality induces that

y =

+∞∑
k=0

Txk

Also, by construction, (
∑n

k=0 xk) is a Cauchy sequence, so it converges to a limit x with

||x|| ≤
+∞∑
k=0

||xk|| ≤
1

4

+∞∑
k=0

1

2k
=

1

2
.

Since T is continuous, we have

y =

+∞∑
k=0

Txk = T

+∞∑
k=0

xk = Tx

with ||x|| < 1. This proves the theorem. □
The following exercise explains why Theorem 28 is called the open mapping theorem.

Exercise 15:
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Let E and F be two Banach spaces and let T be a bounded linear operator from E onto F (onto
= surjective). Prove that the image of an open set of E by T is an open set of F .

Solution 15:

Let U be an open set of E. Let y ∈ T (U). Let x ∈ F such that y = T (x). Let c such that

B(0, c) ⊂ T (B(0, 1)).

Since U is open, there exists δ > 0 such that

B(x, δ) ⊂ U

But
T (B(x, δ)) = y + δT (B(0, 1))

We deduce that
y + δB(0, c) ⊂ T (B(x, δ)) ⊂ T (U),

which proves the result.

Exercise 16:

Assume that T is a bijective (injective (one to one) +surjective (onto)) bounded linear operator
from a Banach space E to a Banach space F . Then T−1 is bounded.

Solution 16:

Let c as in Theorem 28, so that
B(0, c) ⊂ T (B(0, 1))

Since
|| cy

2||y||
|| < c

There exists x ∈ B(0, 1) such that

x = T−1
( cy

2||y||
)
.

Therefore
||T−1

( cy

2||y||
)
|| < 1

from which we deduce that

||T−1(y)|| < 2

c
||y||.

Exercise 17:

Let E be a linear space. Assume that || · ||1 and || · ||2 are two norms on E such that E is Banach
for each of the two norms. Assume further that there exists a constant c > 0 such that

∀x ∈ E ||x||2 ≤ c||x||1.

Then the two norms are equivalent: there exists a constant d > 0 such that

∀x ∈ E ||x||1 ≤ d||x||2.

Solution 17:

We apply the result of the previous exercise with F = E, T = Id from (E, || · ||1) to (E, || · ||2).
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Theorem 29 (The Closed Graph Theorem). Let E and F be two Banach spaces. Let T be a linear
operator from E into F . Assume that the graph of T , G(T ) = {(x, Tx);x ∈ E}, is closed in E × F .
Then T is bounded.

Proof
We consider the following norm on E:

∀x ∈ E, ||x||2 = ||x||E + ||Tx||F

To prove the theorem, it is sufficient to prove that (E, || · ||2) is a Banach space. If this is true, then
applying the result of the previous exercise we deduce that there exists a constant d > 0 such that

||x||E + ||Tx||F ≤ d||x||E

which gives

||Tx||F ≤ (d− 1)||x||E .

Let us then prove that (E, || · ||2) is a Banach space. Assume (xn) is a Cauchy sequence in (E, || · ||2).
Then (xn, Txn) is a Cauchy sequence in E × F . Since E and F are Banach, (xn, Txn) converges to
some (x, y) ∈ E × F . Since G is closed we deduce that (x, y) ∈ G(T ), i.e y = Tx. It follows that (xn)
converges to x in (E, || · ||2). □

Exercise 18:

Definition 11. A family {S(t); t ≥ 0} of bounded linear operators from a Banach space into itself is
called a semigroup if

(i)S(0) = I

(ii)S(t+ s) = S(t)S(s) for each t, s ≥ 0.

Definition 12. Let X be a Banach space. A semigroup {S(t); t ≥ 0} is called a semigroup of class
C0, or C0-semigroup if for each x ∈ X we have

lim
t→0+

S(t)x = x

Prove that if {S(t); t > 0} is a C0-semigroup, then there exists a constant M > 1 and ω ∈ R such
that

||S(t)|| ≤ Meωt ∀t ≥ 0.

Solution 18:

We first prove that there exists M > 1, µ > 0 such that for

∀t ∈ [0, µ] ||S(t)|| ≤ M

where ||.|| denotes the operator norm. Assume that this is not the case. Then for all M ≥ 1 and for
all µ > 0 there exists tM,µ ∈ (0, µ] such that

||S(tM,µ)|| > M.

So we can construct a sequence tn such that for all n ∈ N

0 < tn <
1

n
and ||S(tn)|| > n. (3.5)

Note that since (S(t)) is a C0-semigroup,

∀x ∈ X lim
n→+∞

S(tn)x = x
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It follows that
∀x ∈ X sup

n∈N
||S(tn)x|| < +∞.

From the uniform boundedness theorem, we deduce that

sup
n∈N

||S(tn)|| < +∞,

which contradicts eq. (3.5). Next, for t > 0, we write t = nµ+ δ, with δ ∈ (0, µ). We have

S(t) = S(δ)S(µ)n

and therefore
||S(t)|| ≤ Mn+1

≤ e(n+1) lnM

≤ e(
t−δ
µ +1) lnM

≤ Me
t
µ lnM

with gives the result with ω = lnM
µ .
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Chapter 4

Weak and Weak* Topologies

4.1 Topological Spaces, Comparison of topologies and the ini-
tial topology

4.1.1 Topological Spaces

Previously, we dealt with metric spaces. Metric spaces are naturally endowed with the metric topology.
The aim of this short paragraph is to recall how to define a topological space more generally without
a distance.

Definition 13. A topology on a set X is a set T of subsets of X, called open sets, that satisfy:

1. ∅, X ∈ T

2. If U, V ∈ T then U ∩ V ∈ T

3. If for all i ∈ I Ui ∈ T then ∪i∈IUi ∈ T .

Endowed with a topology T the set (X, T ) is called a topological space.

For the purpose of what is coming next, we will now recall the definition of basis of a topology.

Definition 14. Let (X, T ) be a topological space. Then a subset of open sets B ⊂ T is called a basis
of open sets of T if every nonempty open set of X can be written as an union of sets of B:

∀U ∈ T ,∃(Ui)i∈I ⊂ B, U = ∪i∈IUi.

Exercise 19:

Let (X, T ) be a topological space.

1. Prove that the two following statements are equivalent

(a) B is a basis of T .

(b)
∀x ∈ X, ∀U ∈ T , x ∈ U ⇒ ∃V ∈ B s.t. x ∈ V ⊂ U.

2. We assume that B is a basis of T . Prove that U ∈ T if and only if for all x ∈ U there exists
V ∈ B such that x ∈ V ⊂ U .

Solution 19:

1. Assume that B is a basis of T . Let x ∈ X, U ∈ T such that x ∈ U . Since B is a basis of T , we
write U = ∪i∈IVi with ∀i ∈ I, Vi ∈ B. It follows that there exists i ∈ I such that x ∈ Vi which
proves 1-b. Conversely, let U ∈ T . Then we can write U = ∪x∈U{x} ⊂ ∪x∈U{Vx} ⊂ U where
for all x, Vx ∈ B and x ∈ Vx ⊂ U , which proves that B is a basis of T .

33
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2. Assume that B is a basis of B and let U ∈ T . Then the conclusion follows from 1-b. Conversely,
let U ∈ T for which for all x ∈ U there exists V ∈ B such that x ∈ V ⊂ U . Then we can write
U = ∪x∈U{x} ⊂ ∪x∈U{Vx} ⊂ U where for all x, Vx ∈ B and x ∈ Vx ⊂ U . Therefore U is an
open set as a union of open sets.

Remark 30. For a metric space, the open balls are a basis of the metric topology.

4.1.2 Comparison of topologies

Definition 15. Let E be a set, and T1, T2 two topologies on E. We say that T1 is coarser than T2 (or
weaker) if T1 ⊂ T2. Alternatively, T2 is said to be finer (or stronger) than T1.

Next, we will see how to define a topology upon a given basis of open sets. Assume that (X, T ) is
a topological space and B a basis of T , then

∀x ∈ X ∃U ∈ B s.t. x ∈ U (4.1)

and
∀U1, U2 ∈ B ∀x ∈ U1 ∩ U2 ∃U ∈ B s.t. x ∈ U ⊂ U1 ∩ U2. (4.2)

Conversely if B ⊂ P(X) satisfies eq. (4.1) and eq. (4.2), there exists a unique topology T on X for
which B is a basis.

Exercise 20:

Prove the previous statement.

Solution 20:

Assume that (X, T ) is a topological space and B a basis of T . Since X is open, eq. (4.1) holds.
eq. (4.2) comes from the fact that U1 ∩ U2 is an open set. Conversely if B ⊂ P(X) satisfies eq. (4.1)
and eq. (4.2), we define T as the set of sets which write as an union of elements of B plus the empty
set. Then one can check that T is a topology. In particular, if U1 ∈ T and U2 ∈ T then

U1 ∩ U2 =
(
∪i∈I U1i

)
∩
(
∪j∈J U2j

)
= ∪i∈I,j∈JU1i ∩ U2j

= ∪i∈I,j∈J ∪x∈U1i∩U2j
Vx

where x ∈ Vx ⊂ U1i ∩ U2j and Vx ∈ B. The other verifications are left to the reader.

4.1.3 The initial topology

Let E be a set and (Fi, Ti)i∈I , a family of topological spaces, and for all i ∈ I let φi an application
from E to Fi. Let B the family of sets defined as finite intersection of the sets φ−1

i (Oi
j) with i ∈ I

and Oi
j open set of Fi. Then B satisfies the assumptions eq. (4.1) and eq. (4.2). Indeed, for any i ∈ I,

φ−1
i (Fi) = E ∈ B, which shows that eq. (4.1) holds. Next, let U1, U2 ∈ B and x ∈ U1∩U2. By definition,

we can write U1, U2 as finite intersections: U1 = ∩i∈I1,j∈Ji
1
φ−1
i (Oi

j), U2 = ∩i∈I2,j∈Ji
2
φ−1
i (Oi

j). It follows
that U1 ∩ U2 writes also as a finite intersection of the required form, and therefore U1 ∩ U2 ∈ B. It
follows that eq. (4.2) is also satisfied. The initial topology is now defined as the unique topology for
which B is a basis.

Definition 16. The initial topology on E is the unique topology for which B as defined as above is a
basis.

By construction, we have that,

Proposition 31. The initial topology is the coarsest topology that contains the sets(
φ−1
i (ω)

)
i∈I,ω∈Ti
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4.2 The Weak Topology

Definition 17. The weak topology σ(E,E′) on E is the initial topology associated with the linear
functionals f ∈ E′.

Exercise 21:

Show that the topology associated with the usual norm ||·|| on E is stronger than the weak topology
σ(E,E′).

Solution 21:

Since all linear functional φ is continuous from (E, || · ||) into K, φ−1
i (ω) is an open set of (E, || · ||)

for all open set ω ∈ K. Then, the result follows from Proposition 31.

Definition 18. We say that a topology T defined on a space X is Hausdorff if for any x, y ∈ X with
x ̸= y there exists two open sets U, V ∈ T with x ∈ U , y ∈ V such that U ∩ V = ∅.

Exercise 22:

We assume that K = R. Show that the weak topology σ(E,E′) is Hausdorff.

Solution 22:

Let x, y ∈ E with x ̸= y. We look for two open sets U, V of σ(E,E′) such that x ∈ U , y ∈ V and
U ∩ V = ∅. Let us define φ on span(y − x) by

φ(y − x) = 1.

Then φ can be extended to a bounded linear function on E, see Proposition 23. Note then that

φ(y) = φ(x) + φ(y − x)

= φ(x) + 1.

Next, let
U = {z ∈ E;φ(z) < φ(x) + 1/2} = φ−1((−∞, φ(x) + 1/2))

V = {z ∈ E;φ(z) > φ(x) + 1/2} = φ−1((φ(x) + 1/2,+∞.)

Then U, V are two open sets of σ(E,E′) such that x ∈ U , y ∈ V and U ∩ V = ∅.

Exercise 23:

We assume that K = C. Show that the weak topology σ(E,E′) is Hausdorff.

Solution 23:

Let x, y ∈ E with x ̸= y. We look for two open sets U, V of σ(E,E′) such that x ∈ U , y ∈ V and
U ∩ V = ∅. Let us define φ on span(y − x) by

φ(y − x) = 1.

Then φ can be extended to a bounded linear function on E, see Proposition 23. Note then that,

|φ(x)− φ(y)| = 1

U = {z ∈ E;φ(z) ∈ B(φ(x), 1/2)} = φ−1(B(φ(x), 1/2))

V = {z ∈ E;φ(z) ∈ B(φ(y), 1/2)} = φ−1(B(φ(y), 1/2))

Then U, V are two open sets of σ(E,E′) such that x ∈ U , y ∈ V and U ∩ V = ∅.

Definition 19. Let (X, T ) be a topological space and let x ∈ X. We say that V ⊂ X is a neighborhood
of x if there exists U ∈ T such that x ∈ U ⊂ V.
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Definition 20. Let (X, T ) be a topological space and let x ∈ X. We say that B is a basis of neigh-
borhoods of x if for any neighborhood V of x we can find a neighborhood U of x U ∈ B such that
U ⊂ V.

Exercise 24:

Let E be a Banach space. Show that

{z ∈ E; |φi(z)− φi(x)| < ϵ, i ∈ {0, ..., n}, φ0, φ1, ..., φn ∈ E′, n ∈ N, ϵ > 0}

defines a basis of neighborhoods of x for the weak topology.

Solution 24:

Let x ∈ E, and V a neighborhood of x. By definition of a neighborhood, V contains an open
set which contains x. By definition of the weak topology there exists a finite number of applications
(φi)i∈I and a finite number of open sets in K, (Oj)j∈Ji

such that

x ∈ ∩i∈I,j∈Ji
φ−1
i (Oj).

Therefore for all i ∈ I, j ∈ J ,
φi(x) ∈ Oj

Since Oj is open in K, there exists ϵij such that

B(φi(x), ϵij) ∈ Oj

Let ϵ = min{ϵij}, then
x ∈

⋂
i∈I,j∈Ji

φ−1
i (B(φi(x), ϵ)).

When a sequence (xn) converges weakly i.e in the weak topology σ(E,E′) toward x we will write

xn ⇀ x.

To say that a sequence (xn) converges strongly means the convergence in the usual norm:

||xn − x|| → 0.

Proposition 32. A sequence (xn) converges weakly toward x ∈ E in the σ(E,E′) topology if and only
if for every φ ∈ E′, (φ(xn)) converges toward φ(x).

Proof
Assume that (xn) converges weakly toward x in the σ(E,E′) topology. Let U be an open set containing
φ(x) in K. Then φ−1(U) is an open set of σ(E,E′) which contains x. Therefore, there exists N ∈ N
such that n > N implies xn ∈ φ−1(U) which in turns implies that φ(xn) ∈ U .

Conversely, assume that for every φ ∈ E′, (φ(xn)) converges toward φ(x). Let U ∈ σ(E,E′) an
open set containing x. Then by definition there exists a finite number of φi ∈ E′ and open sets in K,
Vi, i ∈ {1, ..., p}, such that

x ∈
p⋂

i=1

φ−1
i (Vi) ⊂ U.

For all i ∈ {1, ..., p}, let Ni be such that

n > Ni ⇒ φi(xn) ∈ Vi.

Let N = maxi Ni. Then
n > N ⇒ ∀i ∈ {1, ..., p}φi(xn) ∈ Vi.

which in turn implies that

xn ∈
p⋂

i=1

φ−1
i (Vi) ⊂ U.

□
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Proposition 33. Assume that (xn) converges strongly toward x in E, then it converges weakly in the
σ(E,E′) topology.

Proof
This follows from the continuity of φ for the strong topology. More precisely, let φ ∈ E′, then

|φ(xn)− φ(x)| ≤ ||φ||||xn − x||

which proves the result. Another way to express it is as follows. Consider an open set U of (E, σ(E,E′))
containing x. Then it is also an open set in (X, || · ||) since σ(E,E′) is coarser than the norm topology.
It follows that

∃N s.t. n > N ⇒ xn ∈ U.

which proves the result.□

Proposition 34. Assume that a sequence (xn) converges weakly toward x ∈ E in the σ(E,E′). Then
(xn) is bounded for the usual norm in E and

||x|| ≤ lim inf
n→+∞

||xn||.

Proof
Since

xn ⇀ x in σ(E,E′)

it follows that ∀φ ∈ E′ φ(xn) → φ(x) which in turn implies

∀φ ∈ E′ sup
n∈N

|φ(xn)| < cφ

for some positive constant cφ. Defining the bounded linear functional gxn
from E′ to K as gxn

(φ) =
φ(xn), we deduce from the uniform boundedness principle that

sup
n∈N

||gxn
||L(E′,K) = sup

n∈N
sup

||φ||≤1

||φ(xn)|| ≤ C

for some constant C. Now since, from Proposition 25

sup
||φ||≤1

||φ(xn)|| = ||xn||

it follows that
sup
n∈N

||xn|| ≤ C,

which proves that (xn) is bounded in the usual norm in E. Next,

|φ(xn)| ≤ ||φ||||xn||

which implies that for every φ such that ||φ|| ≤ 1

|φ(xn)| ≤ ||xn||

Taking the lim inf in both sides, we obtain that for every φ such that ||φ|| ≤ 1

|φ(x)| ≤ lim inf ||xn||

taking the sup in the left hand side of this inequality and using the fact that

sup
||φ||≤1

|φ(x)| = ||x||

we obtain that
||x|| ≤ lim inf

n→+∞
||xn||
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□
Exercise 25:

Prove that if (xn) converges toward x in σ(E,E′) and (φn) converges toward φ in E′, then φn(xn)
converges toward φ(x) in K.

Solution 25:

|φ(x)− φn(xn)| = |φ(x)− φ(xn) + φ(xn)− φn(xn)|

≤ |φ(x)− φ(xn)|+ |φ(xn)− φn(xn)|

≤ |φ(x)− φ(xn)|+ ||φ− φn||||xn||.

Proposition 35. When E is of finite dimension the weak topology σ(E,E′) and the usual topology on
E are the same.

Proof
Let T denote the usual topology on E. We already know that

U ∈ σ(E,E′) ⇒ U ∈ T .

Conversely assume that U ∈ T . We want to prove that U ∈ σ(E,E′). Let x ∈ U , we want to prove
that there exists an open set V ∈ σ(E,E′) such that x ∈ V ⊂ U . Let r > 0 such that B(x, r) ⊂ U.
Let e1, e2, ..., en be a basis of E, with ∀i ∈ {1, .., n}, ||ei|| = 1. We define φi from E to K as φi(x) = xi

where x =
∑n

i=1 xiei. Without loss of generality, we assume that ||x|| =
∑n

i=1 |xi|. Note that φi ∈ E′.
Consider the open set V ∈ σ(E,E′) defined as

V =

n⋂
i=1

φ−1
i (B(xi, ϵ)).

Note that x ∈ V . Furthermore, for y ∈ V,

||y − x|| =
n∑

i=1

|yi − xi| < nϵ.

Choosing ϵ < r
n provides the result.

The proposition proposition 35 is only valid in finite dimensions.

Exercise 26:

Prove that if E is infinite dimensional, the unit sphere

S = {x ∈ E; ||x|| = 1}

is not a closed set for the weak topology σ(E,E′).

Solution 26:

We shall prove in fact that the closure of S in σ(E,E′) denoted by S̄ is equal to the closed unit
ball Bc = {x ∈ E; ||x|| ≤ 1}. We first start to prove that the unit open ball B(0, 1) ⊂ S̄ which
proves that S is not closed since S ∩ B(0, 1) = ∅ which implies that S ̸= S̄. Let x0 ∈ B(0, 1). Let
U ∈ σ(E,E′) with x0 ∈ U . We want to prove that U ∩ S ̸= ∅. Since U ∈ σ(E,E′) and x0 ∈ U , there
exists φ1, ..., φn ∈ E′, and ϵ > 0 such that

n⋂
i=1

φ−1
i (B(φi(x0), ϵ)) ⊂ U.
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Let y ∈ E such that ∀i ∈ {1, ..., n}, φi(y) = 0. Such a y exists because E is infinite dimensional. If
this was not the case one could define a bijective application φ = (φ1, ..., φn) from E into Kn which
would imply that E is of dimension n < ∞. Now, consider g(t) = ||x0 + ty||. We have that g(0) < 1
and limt→+∞ g(t) = +∞. Since g is continuous, there exists t0 such that g(t0) = 1. This implies that
x0 + t0y ∈ S. Note also that ∀i ∈ {1, ..., n}, φi(x0 + t0y) = φi(x0), therefore x0 + t0y ∈ U . Finally,
U ∩ S ̸= ∅ and therefore S is not a closed set for σ(E,E′). Finally, note that

Bc = ∩φ∈E′,||φ||≤1φ
−1(Bc(0, 1))

is closed in σ(E,E′) as an intersection of closed sets. This means that S ⊂ Bc ⊂ S̄ which implies
Bc = S̄.

Exercise 27:

Prove that if E is infinite dimensional, the unit ball

B = {x ∈ E; ||x|| < 1}

is not an open set for the weak topology σ(E,E′).

Solution 27:

Proceed by contraction and remark that

S = Bc(0, 1) ∩ (B(0, 1))c.

4.3 The Weak∗ Topology

We are now interested in the topologies defined on E′. First, we can define the usual (strong) topology
associated to the dual norm on E′. We can also define the weak topology σ(E′, E′′), by analogy with
the construction of σ(E,E′) as the initial topology associated with the elements of E′′. But we are
now going to define a third topology on E′ called the weak∗ topology and denoted by σ(E′, E). For
every x ∈ E, consider the linear functional φx : E′ → K defined by

φ → φx(φ) = φ(x)

As x runs through E, we obtain a collection (φx)x∈E of maps from E′ into K.

Definition 21. The weak∗ topology σ(E′, E) on E′ is the initial topology associated with the linear
functionals (φx)x∈E.

Exercise 28:

Show that the weak∗ topology σ(E′, E) is Hausdorff.

Solution 28:

Let φ1, φ2 ∈ E′ with φ1 ̸= φ2. Then there exists x ∈ E such that φ1(x) ̸= φ2(x). Since K
is Hausdorff, there exits two open balls, B1(φ1(x), ϵ1) and B2(φ2(x), ϵ2) such that B1 ∩ B2 = ∅.
Let U1 = φ−1

x (B1) = {φ ∈ E′;φ(x) ∈ B1}, and U2 = φ−1
x (B2) = {φ ∈ E′;φ(x) ∈ B2}. Then

U1, U2 ∈ σ(E′, E), φ1 ∈ U1, φ2 ∈ U2 and U1 ∩ U2 = ∅

Exercise 29:

Show that

{φ ∈ E′; |φ(xi)− φ0(xi)| < ϵ, i ∈ {0, ..., n}, x0, x1, ..., xn ∈ E,n ∈ N, ϵ > 0}

defines a basis of neighborhoods of φ0.
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Solution 29:

Proceed as in the analogous result for σ(E,E′).

When a sequence (φn) converges weakly i.e in the weak∗ topology σ(E′, E) toward φ we will write

φn
∗
⇀ φ.

The few next propositions are analogous as those in the previous section. Their proof are left as an
exercise

Proposition 36. A sequence (φn) converges weakly toward φ ∈ E′ in the σ(E′, E) topology if and
only if for every x ∈ E, (φn(x)) converges toward φ(x).

Proposition 37. Assume that (φn) converges strongly toward φ in E′, then it converges in σ(E′, E′′)
and in the σ(E′, E) topology.

Proposition 38. Assume that a sequence (φn) converges weakly toward φ in the σ(E′, E) topology.
Then (φn) is bounded for the norm topology in E′ and

||φ|| ≤ lim inf n → +∞||φn||

Exercise 30:

Prove that if (φn) converges toward φ in σ(E′, E) and (xn) converges toward x strongly in E, then
φn(xn) converges toward φ(x) in K.

Solution 30:

Proceed as in the analogous result for σ(E,E′).

Exercise 31:

Let g : E′ → K be a linear functional that is continuous for the weak∗ topology. Then there exists
some x0 ∈ E such that

g(φ) = φ(x0)∀φ ∈ E′

Solution 31:

Left to the reader.

Exercise 32:

Assume that H is a hyperplane in E′ that is closed in σ(E′, E). Then H has the form

H = {φ ∈ E′;φ(x0) = α}

for some x0 ∈ E, and some α ∈ K.

Solution 32:

Left to the reader.
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The product topology

Let (Ei, τi)i∈I , be a family of topological spaces. We consider the cartesian product space

E =
∏
i∈I

Ei

which means that an element x ∈ E writes as

x = (xi)i∈I

where for each i ∈ I, xi ∈ Ei. Next, for each i ∈ I, we note

pi : E → Ei

the canonical projection from E into Ei, which at x = (xj)j∈I associates xi.

Definition 22. The initial topology associated with the family of projections (pi)i∈I is called the
product topology on E.

Remark that for each open set Ui of Ei,

p−1
i (Ui) =

∏
j∈I

Uj

with Uj = Ui if j = i and Uj = Xj if j ̸= i. Therefore a finite intersection of open sets p−1
i (Ui) , with

Ui an open set of Ei, is an open set of E which write∏
j∈I

Uj

with Ui open set of Ei for all i ∈ I and Ui = Ei for all but at most a finite number of indexes. Recall
that those open sets are a basis for the product topology in E.

In the case where Fi = F for all i ∈ I we have

E =
∏
i∈I

F = F I

and the product topology is also called the topology of point wise convergence since it corresponds to
the point wise convergence for functions.

Theorem 39. The closed unit ball

BE′ = {φ ∈ E′; ||φ|| ≤ 1}

is compact in the weak∗ topology σ(E′, E).

Proof
The proof goes as follows. We first prove thatBE′ is compact inKE endowed with the product topology.
Then we remark that the topology σ∗(E′, E) is the induced topology by the product topology on E′.
BE′ is compact in KE endowed with the product topology
First note that

BE′ = {φ ∈ E′; |φ(x)| ≤ 1, for ||x||| ≤ 1}

= {φ ∈ KE ;∀x, y ∈ E,∀λ ∈ C|φ(x)| ≤ ||x||, φ(λx) = λx, φ(x+ y) = φ(x) + φ(y)}

Next, notice that
{φ ∈ KE ;∀x ∈ E,∀λ ∈ K|φ(x)| ≤ ||x||}

is product of compact sets which is compact by Tichonov’s Theorem. To conclude, we prove that

{φ ∈ KE ;∀x, y ∈ E,∀λ ∈ Kφ(λx) = λφ(x), φ(x+ y) = φ(x) + φ(y)}
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is a closed set. Indeed, for fixed x ∈ E and λ ∈ X,(
{φ ∈ KE ;φ(λx) = λφ(x)}

)c

= {φ ∈ KE ;φ(λx) ̸= λφ(x)}

which is an open set of the product topology as an union of elementary open sets (Uy)y∈E with Uy = K
if y /∈ {x, λx}, and Ux × Uλx = K2 \ {(z, λz)z∈K} (K2 \ {(z, λz)z∈K} writes as union of products of
balls Bx ×Bλx). Taking the intersection over x and λ gives the result. An analog argument holds for
φ(x+ y) = φ(x) + φ(y).
BE′ is compact in E′ endowed with the topology σ(E′, E)

We remark that the topology σ(E′, E) is the induced topology by the product topology in E′. Let U
be an open set of (E′, σ∗) and φ ∈ U . Then, there exists x1, ..., xn ∈ E and V1, ..., Vk open sets of K
such that

φ ∈
⋂

i∈{1,..,n},l∈{1,...,k}

g−1
xi

(Vl)

which writes as a finite intersection of sets of the form

E′ ∩
∏
y∈E

Wy

with Wy = K for all y ∈ E except if y = xi for some i in which case Wxi = Vk for some k. This proves
that σ∗(E′, E) is the topology induced by the product topology on E′.□

4.4 Reflexive spaces

Definition 23. Let E be a Banach space and J the canonical injection from E into E′′ which at each
x ∈ E associates φx ∈ E′′ by φx(φ) = φ(x). We say that E is reflexive if J(E) = E′′.

Remark 40. We recall that J is well define because:

|φx(φ)| = |φ(x)| ≤ ||x||||φ||.

So E is reflexive means that J is onto.

Remark 41. Examples of reflexive spaces are Lp and lp for 1 < p < ∞. Note however that L1, L∞, l1, L∞

are not reflexive. We shall see in the next chapter that Hilbert spaces are reflexive.

Theorem 42. A Banach space E is reflexive if and only if the closed ball Bc = {x ∈ E; ||x|| ≤ 1} is
compact for the weak topology σ(E,E′).

Proof(Necessity)
We assume that E is reflexive, and because ||φx|| = ||x|| we have that J(Bc) = {φx; ||x|| ≤ 1}.
Furthermore, from Theorem 39, we know that J(Bc) is compact for the topology σ(E′′, E′). To
prove the result, it is therefore sufficient to prove that J−1 is continuous from (E′′, σ(E′′, E′)) into
(E, σ(E,E′)). This is equivalent to prove that for all φ ∈ E′, φ ◦ J−1 is continuous (E′′, σ(E′′, E′))
into K. Now, note that for every φx ∈ E′′,

φ ◦ J−1(φx) = φ(x).

But by definition, (σ(E′′, E′) makes φ continuous from (E′′, σ(E′′, E′)) into K.
The proof of the sufficiency of Theorem 42 relies on two lemmas.

Lemma 3 (Helly). Let E be a Banach space, φ1, ..., φn ∈ E′ and γ1, ..., γn ∈ K. The following
properties are equivalent.

1. ∀ε > 0, ∃xϵ such that ||xϵ|| ≤ 1 and

∀i ∈ {1, ..., n} |φi(xϵ)− γi| < ϵ.
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2. ∀β1, ..., βn ∈ K,

|
n∑

i=1

βiγi| ≤ ||
n∑

i=1

βiφi||

Proof
1 ⇒ 2
Let ϵ > 0 and xϵ such as in 1. Then,

|
n∑

i=1

βiγi| = |
n∑

i=1

βi(γi − φi(xϵ)) +

n∑
i=1

βiφi(xϵ|

≤ ϵ

n∑
i=1

|βi|+ ||
n∑

i=1

βiφi||.

Taking the limit as ϵ goes to 0 provides the result.
2 ⇒ 1
Let γ = (γ1, ..., γn) and for x ∈ E, ϕ(x) = (φ1(x), ..., φn(x)). Property 1 says that for all ϵ > 0 there
exists xϵ such that ||xϵ|| ≤ 1 and

||ϕ(xϵ)− γ||∞ < ϵ,

where || · ||∞ refers to the classical max norm in Kn. In other words, this means that γ ∈ Φ(Bc(0, 1))
with respect to the closure in (Kn, || · ||∞. We proceed now by contradiction. Assume that

γ /∈ ϕ(Bc(0, 1)).

Then we can find β1, ...βn ∈ K such that ∀x ∈ Bc(0, 1)

|
n∑

i=1

βiφi(x)| < α < |
n∑

i=1

βiγi|

(why? Exhibit explicitly β1, ..., βn). Taking the sup over x in the left hand side leads to a contradiction.

Lemma 4 (Goldstine). Let E be a Banach space. Then J(E) is dense in (E′′, σ(E′′, E′)).

Proof
We are going to prove that J(Bc) is dense in Bc,E′′ = {g ∈ E′′; ||g|| ≤ 1} for the topology σ(E′′, E′).
Let g ∈ Bc,E′′ and U ∈ σ(E′′, E′) with g ∈ U . Then there exists φ1, ..., φn ∈ E′ and ϵ such that

{η ∈ E′′;∀i ∈ {1, ..., n} |φi(g)− φi(η)| < ϵ} ⊂ U.

We look for x ∈ E such that
∀i ∈ {1, ..., n} |φi(g)− φi(x)| < ϵ

Thanks to lemma 3, it is sufficient to prove that ∀β1, ..., βn ∈ K,

|
n∑

i=1

βiγi| ≤ ||
n∑

i=1

βiφi||

with γi = φi(g). But this is true because

|
n∑

i=1

βiφi(g) ≤ ||
n∑

i=1

βiφi||||g||||
n∑

i=1

βiφi||.

Proof(end of theorem 42)
The canonical injection J from (E, σ(E,E′)) into (E′′, σ(E′′, E′)) is continuous, since for x ∈ E and
φ ∈ E′, J(x)(φ) = φ(x) and φ is continuous from (E, σ(E,E′)) to K. Assuming that Bc is compact
in (E, σ(E,E′)), it follows that J(Bc) is compact in (E′′, σ(E′′, E′)), and therefore closed. This ends
the proof since J(Bc) = Bc,E′′ .
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4.5 Separable spaces

Definition 24. Let E be a Banach space. We say that E is separable if there exists a countable
subspace of E which is dense in E.

Theorem 43. Let E be a separable Banach space. Then the closed unit ball in E′ is metrizable in
the weak∗ topology (E′, E). Conversely, if the closed unit ball in E′ is metrizable in the weak∗ topology
(E′, E), then E is separable.

Proof
We assume that E is separable. We assume that (an)n∈N is dense in the unit ball of E. For all

1, φ2 ∈ E′, we set

|φ1 − φ2| =
+∞∑
n=0

1

2n
|φ1(an)− φ2(an)|

This defines a norm on E′. Assume that U is an open in σ(E′, E). We shall prove that U ∩ Bc,E′ is
an open set for the topology induced by | · |. Let φ0 ∈ U ∩ Bc,E′ . Since U is an open set in σ(E′, E),
there exists x1, ..., xk and ϵ > 0 such that

{φ ∈ E′; |φ(xi)− φ0(xi)| < ϵ, i ∈ {1, ..., k}} ⊂ U.

We want to prove that there exists µ > 0, such that |φ−φ0 < µ and φ ∈ Bc,E′ implies φ ∈ U ∩Bc,E′ .
Now,

|φ(xi)− φ0(xi)| ≤ |φ(xi)− φ(ani
)|+ |φ(ani

)− φ0(ani
)|+ |φ0(ani

)− φ0(xi)|

≤ 2|xi − ani
|+ 2ni |φ− φ0|

< ϵ,

where the n′
is were chosen such that ||xi − ani || < ϵ

4 and µ such that |φ − φ0| < mini∈{1,...,k}
ϵ

2ni+1 .
This proves that every open set induced by σ(E′, E) in the ball Bc,E′ is an open set in the topology
induced by the norm | · | on Bc,E′ .

Next, we want to prove that any open set in the topology induced by the norm | · | on Bc,E′ is an
open set induced by σ(E′, E) on Bc,E′ . Let U be an open set of E′ for | · |. Let φ0 ∈ Bc,E′ ∩U . Let µ
such that

{φ ∈ E′; |φ− φ0| < µ} ⊂ U.

We want to prove that there exists ϵ > 0 and some x1, ..., xk ∈ E such that(
Bc,E′ ∩ {φ ∈ E′; |φ(xi)− φ0(xi)| < ϵ, i ∈ {1, ..., k}}

)
⊂

(
Bc,E′ ∩ {φ ∈ E′; |φ− φ0| < µ}

)
Recall that

|φ− φ0| =
+∞∑
n=0

1

2n
|φ(an)− φ0(an)|.

Since
|φ(an)− φ0(an)| ≤ ||φ− φ0||E′ ||an|| ≤ 2,

we deduce that
1

2n
|φ(an)− φ0(an)| ≤

1

2n−1

Let n0 such that
+∞∑

n=n0+1

1

2n−1
<

µ

2
.

Then it is sufficient to ensure that

|φ(an)− φ0(an)| < (2− 1

2n0+1
)
µ

2
∀n ∈ {0, ..., n0}

to obtain the result.
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Hilbert Spaces

In this chapter we work with K = R. The last section discusses however the case K = C.

5.1 Scalar Product and Hilbert Spaces. Projection on a Closed
Convex Set

Definition 25. A (real) scalar product on a linear space H over R is a real valued function (·, ·) :
H ×H → R which satisifies

• Bilinearity: u → (u, v) and v → (u, v) are linear.

• Symmetry : (u, v) = (v, u).

• Positivity : (u, u) > 0 whenever u ̸= 0.

Exercise 33:

Prove the Cauchy-Schwarz inequality:

|(u, v)| ≤ (u, u)
1
2 (v, v)

1
2

Solution 33:

We consider,
P (λ) = (u+ λv, u+ λv).

Note that P (λ) ≥ 0. Furthermore

P (λ) = (u, u) + 2λ(u, v) + λ2(v, v).

Since P (λ) ≥ 0 its discriminant ∆ = b2 − 4ac is non-positive. This gives

P (λ) = 4((u, v))2 − 4(u, u)(v, v) ≤ 0.

Which in turn implies
|(u, v)| ≤ (u, u)

1
2 (v, v)

1
2 .

For all u ∈ H, we set
|u| = (u, u)

1
2

Exercise 34:

Prove that | · | defines a norm on H.

45
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Solution 34:

We prove that
|u+ v| ≤ |u|+ |v|.

The two other verifications are left to the reader.

|u+ v|2 =(u+ v, u+ v)

=|u|2 + 2(u, v) + |v|2

≤|u|2 + 2|u||v|+ |v|2 by Cauchy-Schwarz

≤(|u|+ |v|)2.

Definition 26. We say that a linear space H endowed with a scalar product is a Hilbert space if H is
complete for the norm | · | defined above.

Classical examples of Hilbert spaces are Rn, L2, H1 to cite only but a few. Hilbert spaces are
reflexive but we are not giving the proof here. See [Bre11].

Exercise 35:

Prove that
|a+ b|2 + |a− b|2 = 2(|a|2 + |b|2) (5.1)

This equality is known as the parallelogram’s law.

Solution 35:

Just write
|a+ b|2 = (a+ b, a+ b) = |a|2 + |b|2 + 2(a, b)

and
|a− b|2 = (a+ b, a+ b) = |a|2 + |b|2 − 2(a, b).

Summing the two previous equalities provides the result.

Theorem 44. Let K be a closed convex subset of H. Then for all u ∈ H there exists a unique u∗ ∈ K
such that

|u− u∗| = inf
v∈K

|u− v|.

Furthermore u∗ is characterized by u∗ ∈ K and

(u− u∗, v − u∗) ≤ 0 ∀v ∈ K. (5.2)

u

u*

K

Proof
Let vn a sequence such that

d = inf
v∈K

|u− v| = lim
n→+∞

|u− vn|

We will prove that (vn) is a Cauchy sequence. We apply the parallelogram’s law (5.1) to

a = u− vn, b = u− vm.

We obtain
|2u− (vn + vm)|2 + |vm − vn|2 = 2|u− vn|2 + 2|u− vm|2
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and subsequently,

|u− vn + vm
2

|2 + |vm − vn
2

|2 =
1

2
|u− vn|2 +

1

2
|u− vm|2

which gives

|vm − vn
2

|2 =
1

2
|u− vn|2 +

1

2
|u− vm|2 − |u− vn + vm

2
|2

and since, vn+vm
2 ∈ K, we can write

|vm − vn
2

|2 ≤ 1

2
|u− vn|2 +

1

2
|u− vm|2 − d2.

Since the right hand side converges toward 0, we have that (vn) is Cauchy. Since E is complete, (vn)
converges. We set

u∗ = lim
n→+∞

vn.

It follows that
|u− u∗| = inf

v∈K
|u− v|.

Now, for all t ∈ [0, 1], w ∈ K we have

|u− u∗| ≤ |u− ((1− t)u∗ + tw)|

≤ |u− u∗ + t(u∗ − w)|

which implies
|u− u∗|2 ≤ |u− u∗|2 + 2t(u− u∗, u∗ − w) + t2|u∗ − w|2.

Therefore,
0 ≤ 2t(u− u∗, u∗ − w) + t2|u∗ − w|2.

Dividing by t and taking the limit as t goes to 0 we obtain

(u− u∗, w − u∗) ≤ 0.

Conversely, assume that
(u− u∗, w − u∗) ≤ 0

for some u∗ ∈ K. Then, for all w ∈ K

|w − u|2 = (w − u,w − u)

= (w − u∗ + u∗ − u,w − u∗ + u∗ − u)

= |u− u∗|2 + |w − u∗|2 + 2(u∗ − u,w − u∗)

≥ |u− u∗|2.

Finally, we need to prove the uniqueness. Let u∗
1, u

∗
2 ∈ K satisfying eq. (5.5), then

∀w ∈ K, (u− u∗
1, w − u∗

1) ≤ 0

and
∀w ∈ K, (u− u∗

2, w − u∗
2) ≤ 0.

Choosing w = u∗
2 in the first equation above and w = u∗

1 in the latter, summing the two, we obtain

|u∗
1 − u∗

2|2 ≤ 0,

which implies u∗
1 = u∗

2.
The above element u∗ is called the projection of u in K and denoted by

u∗ = PK(u)

The following inequality holds
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Proposition 45.

|PK(u)− PK(v)| ≤ |u− v|

Proof

∀w ∈ K, (u− PK(u), w − PK(u))

and

∀w ∈ K, (v − PK(v), w − PK(v)).

As before, choosing w = PK(v) in the first equation above and w = PK(u) in the latter, summing the
two, we obtain

(u− PK(u)− v + PK(v), PK(v)− PK(u)) ≤ 0

which implies

|PK(v)− PK(u)|2 ≤ (v − u, PK(v)− PK(u)).

Applying the Cauchy-Schwarz inequality to the right-hand side gives the result.
In the case where H is a linear subspace of H, we have also:

Proposition 46. If K is a linear closed subspace of H then

(u− PK(u), v) = 0∀v ∈ K.

Proof
Let w ∈ K, then

(u− u∗, w) = (u− u∗, w + u∗ − u∗) ≤ 0

and

(u− u∗,−w) = (u− u∗,−w + u∗ − u∗) ≤ 0

which implies

(u− u∗, w) = 0.

5.2 Riesz-Frechet, Stampacchia and Lax-Milgram Theorems

5.2.1 The Riesz-Frechet theorem

In a Hilbert space H, for any φ ∈ H ′ there exists an element u ∈ H such that the product scalar with
u equals φ. This is the Riesz − Frechet representation theorem stated below.

Theorem 47. [Riesz-Frechet Representation Theorem] Let φ ∈ H ′, there exists a unique u ∈ H such
that

(u, v) = φ(v)∀v ∈ H.

Proof
Let

M = φ−1(0).

Note that M is a linear closed subspace of H. If M = H then u = 0. We assume from now on that
M ̸= H. Let w0 ∈ H \M and let w1 = PMw0 the projection of w0 on M . Now consider

w =
w0 − w1

|w0 − w1|
.

We remark that

|w| = 1

and

(w, z) = 0∀z ∈ M.
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Now for any v ∈ H, we define h as

h = v − φ(v)

φ(w)
w.

Note that φ(h) = 0 and therefore h ∈ M . It follows that

(w, h) = 0.

and therefore for all v ∈ H

(w, v) =
φ(v)

φ(w)
.

Setting u = φ(w)w, we obtain that for all v ∈ H,

(u, v) = φ(v)

For the uniqueness, assume that u1, u2 satisfy the condition then

∀v ∈ H, (u1 − u2, v) = 0.

which implies

|u1 − u2| = 0.

5.2.2 The Stampacchia theorem

For the next theorem, it is useful to remind the follwoing fixed point theorem.

Theorem 48. Let (X, d) be a complete metric space. We assume that S is an application from X
into X such that for all x, y ∈ X

d(S(x), S(y)) ≤ kd(x, y)

with k < 1, then there exists a unique x∗ ∈ X such that

S(x) = x.

Proof
Let x0 ∈ X. We consider the sequence defined iteratively by

xn+1 = S(xn).

We have

d(xn+p, xn) ≤
p−1∑
i=0

d(xn+i, xn+i+1)

≤ knd(x0, x1)

p−1∑
i=0

ki

≤ knd(x0, x1)
1

1− k
−−−−−→
n→+∞

0.

Therefore, (xn) is a Cauchy sequence, and since X is complete it converges toward some x ∈ X. Taking
the limit in the expression d(xn, xn+1) gives

d(x, S(x)) = 0.

Finally, if x, y are two fixed points, we obtain

d(x, y) ≤ kd(x, y)

which implies x = y.
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Definition 27. We say that a bilinear form a on H is continuous if there exists a constant C such
that

|a(u, v)| ≤ C|u||v| ∀u, v ∈ H.

We say that a is coercive if there exists α > 0 such that

a(u, u) ≥ α|u|2.

Theorem 49 (Stampacchia). Let a be a continuous and coercive bilinear form on H and K be a closed
convex. Then for any φ ∈ H ′ there exists a unique u ∈ K such that for all v ∈ K

a(u, v − u) ≥ φ(v − u) (5.3)

Proof
From Theorem 47 there exists a unique z ∈ H such that (z, v) = φ(v) for all v ∈ H. Next, since for
fixed u, a(u, v) defines a continuous linear form on H, Theorem 47 provides a linear map from H into
H such that (Au, v) = a(u, v)∀v ∈ H. Note that from the continuity of a(·, ·) we deduce that

|Au|2 = a(u,Au) ≤ C|u||Au|

which implies

|Au| ≤ C|u|.

It follows that the problem (5.3) is equivalent to finding u ∈ K such that

(Au, v − u) ≥ (z, v − u)∀v ∈ K.

Note that for any ρ > 0, this is equivalent to

(−ρAu+ ρz + u− u, v − u) ≤ 0 ∀v ∈ K.

So it is equivalent to find u such that

PK(−ρAu+ ρz + u) = u.

We are therefore looking for a fixed point of the map S : v → PK(−ρAv + ρv + v). Next, note that

|S(v2)− S(v1)| ≤ | − ρA(v2 − v1) + (v2 − v1)|

and therefore

|S(v2)− S(v1)|2 ≤ |v2 − v1|2 − 2ρ(A(v2 − v1), (v2 − v1)) + ρ2|A(v2 − v1)|2

≤ |v2 − v1|2 − 2ρα|v2 − v1|2 + ρ2a(v2 − v1, A(v2 − v1))

≤ |v2 − v1|2 − 2ρα|v2 − v1|2 + ρ2C|v2 − v1||A(v2 − v1)|

≤ |v2 − v1|2 − 2ρα|v2 − v1|2 + ρ2C2|v2 − v1|2.

Choosing ρ < 2α
C2 implies that

|S(v2)− S(v1)|2 ≤ k2|v2 − v1|2

with k2 = 1− 2ρα+ ρ2C2 < 1. Therefore, we deduce from Theorem 48 the existence of unique u such
that S(u) = u.

Proposition 50. Under the assumptions of Theorem 51, if we assume furthermore that a is symmetric
then u is characterized by u ∈ K and

1

2
a(u, u)− φ(u) = inf

v∈K

(1
2
a(v, v)− φ(v)

)
.
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Proof
If a is symmetric then it defines a scalar product. Applying Theorem 47 with this product scalar
provides the existence of z such that

a(z, v) = φ(v)∀v ∈ H.

In this case inequation (5.3) is equivalent to

a(u, v − u) ≥ a(z, v − u)

which is equivalent to u = PK(z) (for the scalar product a). We know that this is also equivalent to
find u such that

a(u− z, u− z) = inf
v∈K

a(z − v, z − v).

Since
a(z − v, z − v) = a(z, z)− 2a(z, v) + a(v, v)

this is equivalent to find u which minimizes

1

2
a(v, v)− φ(v).

5.2.3 The Lax-Milgram theorem

Theorem 51 (Lax-Milgram). Let a be a continuous and coercive bilinear form on H. Then for any
φ ∈ H ′ there exists a unique u ∈ H such that for all v ∈ H

a(u, v) = φ(v)∀v ∈ H. (5.4)

Furthermore if a is symmetric then u is characterized by

1

2
a(u, u)− φ(u) = inf

v∈K

(1
2
a(v, v)− φ(v)

)
.

Proof
Let φ ∈ H ′. From Theorem 51 with K = H there exists a unique u ∈ H such that

∀v ∈ H, a(u, v − u) ≥ φ(v − u).

Therefore,
∀v ∈ H, a(u, v) = a(u, v + u− u) ≥ φ(v + u− u) = φ(v).

And also,
a(u,−v) ≥ φ(−v)

which provides
a(u, v) ≤ φ(v)

and therefore
a(u, v) = φ(v).

The characterization is as in Proposition 50.

5.3 Hilbert Sums

Definition 28. Let (En)n∈N be a sequence of closed linear subspaces of H. We say that H is the Hilbert
sum of the E′

ns if

1. the spaces En are mutually orthogonal, i.e.,

(u, v) = 0 ∀u ∈ En,∀v ∈ Em, n ̸= m

2. the linear space spanned by finite linear combinations of elements of E′
ns is dense in H.
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Theorem 52. Assume that H is the Hilbert sum of the E′
ns. Then,

∀u ∈ H,

+∞∑
k=0

PEk
u = u

and
+∞∑
k=0

|PEk
u|2 = |u|2 (Bessel-Parseval’s Identity).

We will use the following lemma.

Lemma 5. Assume that (vn) is a sequence in H such that

(vn, vm) = 0 if n ̸= m,

and
+∞∑
k=0

|vk|2 < +∞.

Let the series
+∞∑
k=0

vk

converges in H and

|
+∞∑
k=0

vk|2 =

+∞∑
k=0

|vk|2.

Proof(Proof of Lemma 5)
Let

Sn =

n∑
k=0

vk.

We remark that (Sn) is a Cauchy sequence. Indeed, for m > n,

|Sm − Sn|2 =

m∑
k=n+1

|vk|2.

Since
∑+∞

k=0 |vk|2 < +∞, we deduce that (Sn) is a Cauchy sequence. Taking the limit in

|Sn|2 =

n∑
k=0

|vk|2

proves the lemma.
Proof(Proof of Theorem 52)
We are going to apply Lemma 5 Let

un = PEn
u and Sn =

n∑
k=0

vk.

From assumptions, since un ∈ En and um ∈ Em, we have

(un, um) = 0 if n ̸= m.

Next, we remark that
(u− un, v) = 0∀v ∈ En.

Choosing v = un gives
(u, un) = |un|2
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Summing up from 0 to n gives
(u, Sn) = |Sn|2.

By the Cauchy-Schwarz inequality,

|Sn|2 = (u, Sn) ≤ |u||Sn|,

and therefore
|Sn| ≤ |u|,

which in turn implies
n∑

k=0

|uk|2 ≤ |u|2.

From lemma Lemma 5, we deduce that
∑+∞

k=0 uk converges. Let us call it S. It remains to prove that

u = S =
∑+∞

k=0 uk. We remark that

(u− Sn, v) = 0∀v ∈ Em,m ≤ n.

This is because

u− Sn = (u− um)−
n∑

k=0,k ̸=m

uk.

Taking the limit gives
(u− S, v) = 0

for all v in the linear space spanned by finite linear combinations of elements of En, n ∈ N Since this
space is dense in H, this implies that

(u− S, v) = 0∀v ∈ H.

It follows that S = u.

Definition 29. A sequence (en)n∈N in H is said to be an orthonormal basis if it satisfies the following
properties:

1.
|en| = 1, and (em, en) = 0, ∀m ̸= n,

2. the linear space spanned by the (en)
′s is dense in H.

Proposition 53. Let (en) be an orthonormal basis. Then for every u ∈ H, we have

u =

+∞∑
k=0

(u, ek)ek

and

|u|2 =

+∞∑
k=0

|(u, ek)|2

Proof
We apply Theorem 52 with En = span{en}. We have oonly to prove that

PEnu = (u, en)en.

But

(u− (u, en)en, en) =(u, en)− (u, en)

=0.
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5.4 Hilbert spaces on C
In this chapter we briefly discuss the case K = C.

Definition 30. A scalar product on a linear space H over C is a complex valued function (·, ·) :
H ×H → R which satisifies

• Sesquilinearity: u → (u, v) is linear and v → (u, v) is skewlinear: (x, ay) = ā(x, y).

• Skew Symmetry : (u, v) = (v, u).

• Positivity : (u, u) > 0 whenever u ̸= 0.

Exercise 36:

Prove the Cauchy-Schwarz inequality:

|(u, v)| ≤ (u, u)
1
2 (v, v)

1
2

Solution 36:

Left to the reader.

For all u ∈ H, we set
|u| = (u, u)

1
2

Exercise 37:

Prove that | · | defines a norm on H.

Solution 37:

Left to the reader.

Theorem 54. Let K be a closed convex subset of H. Then for all u ∈ H there exists a unique u∗ ∈ K
such that

|u− u∗| = inf
v∈K

|u− v|.

Furthermore u∗ is characterized by u∗ ∈ K and

ℜ(u− u∗, v − u∗) ≤ 0 ∀v ∈ K. (5.5)
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